H & 0l & AHS B Ml A

0258 E =& 13 HLHXNLEE A &M

e HRE LB
B2 Sl X|{NY o SHTyCHE
S N N ER-EEE P EEEE R CERED
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
N EEE, 2,974,742 0 2,974,742
Sl E TN o UTHOH 2,974,742 0 2,974,742
SIRYETIS DA (BIRLE N N LSE3]) 1,046,000 0 1,046,000
HOHE A= 2-2FA 2] 2 S2HEBAH4R 400,000 0 400,000
401 A& Bl L= ChY| 400,000 0 400,000
01 Alt 400,000 0 400,000
OF 20 (L=358n,8-6-8n) 400,000, 0002 400,000 0 400,000
CHAZGHO! SEX7 10 FHI (2542 A 646,000 0 646,000
T EEST] 646,000 0 646,000
o1 Alt 646,000 0 646,000
OCIHEHO SEXIT HOHFHI(2E4H) At
646,000, 000! 646,000 0 646,000
SIRIRER|Y FRMEEE N (LR LS| 1,650,000 0 1,650,000
A)
T2 o TEAEE FY 1,000,000 0 1,000,000
401 A&BI L= ThY| 1,000,000 0 1,000,000
o1 Alt 1,000,000 0 1,000,000
OS2 Y TRALES FY)
1,000,000, 000! 1,000,000 0 1,000,000
JIBNBH o1 FOIHE =4 160,000 0 160,000
T EEST] 150,000 0 160,000
01 Altl 160,000 0 160,000
OABMB ot =pEEH =4
150,000,002 160,000 0 150,000
Jig slgel wiiel x4 500,000 0 500,000
401 A& Bl L= ThY| 500,000 0 500,000
01 Alt 500,000 0 500,000
OxQ 22N wiHel X4
180,000,002 180,000 0 180,000
OaAXI W2 T4
140,000,002 140,000 0 140,000
O4ZE4 2 SEifet 22 =4
180,000, 0002 180,000 0 180,000
SRl TR (SRR X N S5 ) 278,742 0 278,742
Ol bl 278,742 0 278,742
801 0jlt 278,742 0 278,742
02 THol - HEH S = 0f bl bl 278,742 0 278,742
OTHah - THHSH ol
278,742,000 278,742 0 278,742




